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Simplify:  64 − √−100 
             

A. 54                  B.    64 − 10𝑖                 C.   64 + 10𝑖              
 
      D.   64 − 100𝑖              E.   74 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
29. Multiply:  (9𝑥 − 5𝑦)2  
             

A. 81𝑥2 − 90𝑥𝑦 + 25𝑦2                  B.    9𝑥2 + 25𝑦2                 C.   81𝑥2 + 25𝑦2              
 
      D.   9𝑥2 − 90𝑥𝑦 + 25𝑦2          E.   81𝑥2 − 25𝑦2 
 

 
Solution: To square the binomial, write it twice, and then multiple using FOIL. 
                  

 
 
 
 
 
 
 
 
 
 

Each week, we’ll reveal the answer to the previous week’s question! 
 

Visit us at WWW.NCEMPT.ORG 
for additional resources or to register to test for FREE! 

 (9x − 5y)2 
= (9x − 5y)(9x − 5y) 

= 81𝑥2 − 45𝑥𝑦 − 45𝑥𝑦 + 25𝑦2 

= 81𝑥2 − 90𝑥𝑦 + 25𝑦2 
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